




this circuit. Note, however, that
the amplitude is cut in half.

Since the AD834 provides dif-
ferential current-mode outputs,
load resistors R4 and R5, gain
resistors R6 and R7, and IC2 are
added to convert the signal to
an amplified and buffered sin-
gle-ended output. The AD811
wideband  current-mode feed-
back amplifier (IC2) is config-
ured as a differential amplifier.
Capacitors C3 and C4 remove
the DC offset from the output.
Resistor R8 provides a nominal
50-ohm output impedance, and
Rl and R2 attenuate the input
signal and provide a low-imped-
ance source to ICl.

Inductors Ll, L2, L3, and L5
and capacitors C5, C6, C7, C13,
and Cl5 perform high-frequen-
cy filtering and decoupling. Re-
sistors R3 and R18 and capaci-
tors Cl, C2, and Cl6 provide
decoupling and biasing for ICl.

The circuit requires a + 5-volt
supply at about 30 milliamperes
and -5 volts at about 40 milli-
amperes. Higher voltages, up to
±  9 volts, can be used if the by-
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will be degraded. In particular,
its distortion will increase, and
its bandwidth will decrease.

As mentioned before, C3 and
C4 provide DC blocking. The
values specified allow operation
down to about 10 hertz. If you
intend to use this circuit ex-
clusively above 5 kilohertz, bet-
ter high-frequency performance
can be obtained by substituting
0.1 µ F  ceramic capacitors. The
extra capacitors are included
with the kit for this purpose.
Figure 3 shows the board.

Checkout
Verify that all components are

installed properly and that
there are no solder bridges. Ap-
ply power to the board as indi-
cated in Fig. 2 (plus and minus
5 volts DC, both ±  0.25 volt).
Also connect a function gener-
ator set to approximately 1 volt
RMS to the signal input as
shown. Connect an oscilloscope
or frequency counter to the out-
put pin (the center pin of J2) .

Observe that the output is
double the frequency of the in-
put signal as the input is varied.
The typical 3 dB point of
doubler is greater than
megahertz at the output.
can adjust the input to vary
output, but with an input ab

might be clipped.

is about 40 dB down from the
doubled frequency, the second
harmonic is more than 65 dB
down, and the third i s  about 60
dB down. This fundamental fre-
quency feedthrough increases
to about - 20 dB below the car-
rier as the output is increased to
50 megahertz.


